Vul de tabel in en maak de eenheidscirkel af

dh
L/

Vul de tabel in en maak de eenheidscirkel af

dh
L/

hoek

30°

45°

rad

sin(a)

cos(a)

tan(a)

hoek

45°

90°

rad

sin(a)

cos(a)

tan(a)




Vul een + of —in op de
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9(x) = sin(z)
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sin(a) = cos (a %n)

cos(a) = sin (a %n)

sin(a) = - sin (—a)
cos(a) = cos (—a)
sin(a) = sin (a + )
cos(a) = cos (a + 1)
_sin(a)
tan(a) = cos (@)

sin?(a) + cos?(a) = 1

sin(a) = cos (a %n)

cos(a) = sin (a %n)

sin(a) = sin (—a)
cos(a) = cos (—a)
sin(a) = sin (a + )
cos(a) = cos (a + m)
_sin(a)
tan(a) s(@)

sin?(a) + cos?(a) = 1



